Z
[IA]
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20228 = 20l A LBHS| A of A =t
SN WS
M sy O 1S
Sl UM X (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
off F A ZH )} 30,814,117 31,432,600 A 618,483
= 14,624,660
g 1,283,000
Jl 1,237,500
A 327,600
& 13,341,357
HEZSA It = 30,699,930 31,331,347 A631,417
= 14,624,660
g 1,283,000
J| 1,237,500
A 327,600
c 13,227,170
HYAEZ K& 123,770 113,685 10,085
A 27,600
o 96,170
HYHHIPLAIY 4 44,920 46,235 A 1,315
201 et 9| 21,250 21,250 0
01 AR 22l ] 21,250 21,250 0
Ol 33 5 29 21,250,000 21,250
203 SR F & 23,670 24,985 AN 1,315
03 AIZH =X 25 X H| 23,670 24,985 N 1,315
Ol Y44 SOHAIY HLR2F=X 11,250,000 11,250
O™ HRFX 3,420,000 3,420
O L 4=A A|BHA R =X 9,000,000 9,000
HYHE SEI|IE 2= 51,250 54,850 A 3,600
201 LBt | 51,250 54,850 A 3,600
01 AP 22| H| 51,250 51,250 0
OfY4aed 23E5 L ZH x|
12,750,000 12,750
OolYAHET L oA p A|IMEE 30,000,000 30,000
OJiIz&or HLERH ESHOIX RALE%
8,500,000 8,500
o otol & oFtA 2te 27,600 12,600 15,000
S 27,600
403 XX SRS K20 & 27,600 12,600 15,000
N 27,600
01 MXHHE2E =X 27,600 12,600 15,000
OQotofe otd2e| AMEES &X XNH
27,600,000 27,600
A 27,600
HYAMS 4 14,835,050 8,388,250 6,446,800
= 8,516,000
& 6,319,050
o At DBt = 3,764,250 3,617,250 147,000




SN NS D
M oS JIEt 2=
Sl st 54 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
201 ¢er24| 54,250 63,250 A9,000
01 At 22l 54,250 54,250 0
Ooflgalate 4 & &3 24 4,250,000 4,250
Ofgralae 84 9 HYSZ IUED
50,000, 000 50,000
306 43 3,500,000 3,050,000 450,000
01 &3 3,500,000 3,050,000 450,000
02022 2l 2dHEE2 MHE K&
3,500,000, 000 3,500,000
308 XXM SO A 210,000 504,000 A 294,000
01 IXNHHBNEES 210,000 504,000 A 294,000
OcldH0lL - XIs A=Al & 433k 23N
E 210,000, 000 210,000
o 2Ol 24 5 QI RHIOIH AE 5,610,800 2,171,000 3,439,800
= 4,316,000
< 1,294,800
403 X SHHS =0l & 5,610,800 2,171,000 3,439,800
= 4,316,000
< 1,294,800
01 HAXSHMA=2EE 5,610,800 2,171,000 3,439,800
Oodfl2H0l2 A3 QIFHIOIH HE
5,610,800, 000 5,610,800
= 4,316,000
< 1,294,800
HEXR Jlg2= 5,460,000 2,600,000 2,860,000
= 4,200,000
= 1,260,000
403 X SHHSA=0l& 5,460,000 2,600,000 2,860,000
= 4,200,000
< 1,260,000
01 HXSHMA2E X 5,460,000 2,600,000 2,860,000
OXR ABHME HE 5,460,000, 000 5,460,000
= 4,200,000
< 1,260,000
el Jlgt 2= 4,572,100 6,141,400 A 1,569,300
= 531,000
EN 300,000
< 3,741,100
=22 otd2e| 590,000 390,000 200,000
EN 200,000
< 390,000
308 XXM SOIA 390,000 390,000 0
01 AXHHBIYEES 390,000 390,000 0
Odi==Z otd2e| XA 390,000, 000 390,000
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M oS JIEt 2=
S oHd M JIg 2= (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
403 UHXSHHSA=0l& 200,000 0 200,000
N 200,000
01 HXHMA=LE X 200,000 0 200,000
Odi==2z otdztel XIJ(X=2) 200,000,000 200,000
EN 200,000
HLAMALZ=NSIZ )H(MSAIY) 91,000 0 91,000
308 XAXIEHSOIA 91,000 0 91,000
01 XX EHI tfEX 3 91,000 0 91,000
S HdMNAEZ= MEWA & dE+H
91,000, 000 91,000
HLAHAMAEZ=ZDEIZ ) EAH 100,000 272,900 A 172,900
N 100,000
201 LB-2d | 100,000 100,000 0
EN 100,000
03 A2 Z Hl 100,000 100,000 0
Ozsd 44 offgetdns 249 100,000,000 100,000
EN 100,000
== S ZAXE 31,000 0 31,000
= 31,000
308 XXIEHHSOIA 31,000 0 31,000
= 31,000
01 AXHHIYEES 31,000 0 31,000
Osd ==& 243 X& 31,000,000 31,000
= 31,000
Y2 XA A (MEAY) ,940,000 3,000,000 A 60,000
403 A X EHHS =0l A ,940,000 3,000,000 A 60,000
TAXEH =X ,940,000 3,000,000 A 60,000
OJI0IEEEHH =4 800,000, 000 800,000
28 g4 EUz =4 300,000, 000 300,000
OJ¢e =dlz2 =4 420,000, 000 420,000
OZINE YA MHMEH =4 510,500, 000 510,500
OstdEols==2 HAAIHL JHd 210,000,000 210,000
OE+SE 22 L HIANL Ha
150,000, 000 150,000
O&Za AL N 90,000, 000 90,000
Oougk ftz2gedz &4 399,500, 000 399,500
OEHUl==2& AL Hd 60,000, 000 60,000
HY R XHR AL X 2 150,000 1,350,500 A 1,200,500
403 MHtXSHHSA=0l& 150,000 1,350,500 A 1,200,500
01 X SHMA=2E X 150,000 1,350,500 A 1,200,500
OUadi==% W} ¢eld s0138 =4 (&Y
E0d) 60,000, 000 60,000
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ORBEZN+=8 B2 HHAZA(SOHN)
90,000, 000 90,000
oY M - 22 Jlgtxd 670,100 1,128,000 A 457,900
= 500,000
< 170,100
308 A EHHSOIA 670,100 1,128,000 A 457,900
= 500,000
< 170,100
01 HXNHHNBHELS 670,100 1,128,000 A 457,900
OZMRLEUS A JIgtxH 5,100,000 5,100
02022 OtAISHd B2 ML EWS
650,000, 000 650,000
= 500,000
< 150,000
O8I X ¢ X270 29 (T 2UEN)
15,000, 000 15,000
Hstd 2& 4,734,350 8,890,237 A 4,155,887
= 240,000
as 1,283,000
J| 1,237,500
< 1,973,850
25t HEMYI Hel 195,000 195,000 0
2 150,000
< 45,000
308 XXM SO0l A 195,000 195,000 0
= 150,000
= 45,000
01 HIXNHHBNEES 195,000 195,000 0
OZsot= ol 2MeI Hel 195,000,000 195,000
= 150,000
< 45,000
WY MY HEAY X 1,667,900 1,654,900 13,000
s 1,283,000
< 384,900
308 XtXIEHH SOl A 1,667,900 1,654,900 13,000
s 1,283,000
< 384,900
01 AXHHILEES 1,667,900 1,654,900 13,000
Oo&Medl FstAre X3 1,342,900, 000 1,342,900
s 1,033,000
< 309,900
O&HdMeI| Fatate XI& 325,000,000 325,000
s 250,000
= 75,000
gstd 2sae XA 778,200 833,900 A 55,700
201 et 16,200 18,000 A 1,800
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A FB B (EN) - HRAY - BES 0l &t o il HImEET
03 A2 Z Hl 16,200 18,000 A 1,800
O=HaetEstoe & =2t 29
16,200,000 16,200
308 AHXIEHHSOIA 694,500 689,900 4,600
01 HXNHHNBMNEELS 694,500 689,900 4,600
Oodfgadc=20l 29 156,000, 000 156,000
OdfetMedl =H1H™el X& 513,000, 000 513,000
OZEMAY ofdMgDl 2el XI& 25,500,000 25,500
403 MtXISHHE =0l & 67,500 126,000 A 58,500
01 X SHM A2 X 67,500 126,000 A 58,500
Oofi M| 2te| elZet 2= 67,500,000 67,500
ANEoiLesdusdy 29 17,000 40,000 23,000
308 XtXIEHH SOl A 17,000 0 17,000
13 2SOHEHE & X 2 AL I 17,000 0 17,000
OXdofeadusdy 29 17,000, 000 17,000
SXNHA ZFelAr (&EAY) 19,500 18,200 1,300
308 MtXIEHMSOIH 19,500 18,200 1,300
01 HXNHHNBHELS 19,500 18,200 1,300
Ogxlms Fel 19,500, 000 19,500
HLHIIS F3HALY 1,596,750 5,729,187 AN4,132,437
J| 1,237,500
= 359,250
308 XXM SO A 1,517,750 1,019,187 498,563
J| 1,167,500
< 350,250
01 HIXNHHBNEES 1,517,750 1,019,187 498,563
otcterZ Xz ol X & 1,478,750,000 1,478,750
J| 1,137,500
< 341,250
Oof&Medl Hot& Hel 39,000, 000 39,000
J| 30,000
< 9,000
403 XM S =0l & 79,000 0 79,000
J| 70,000
< 9,000
01 XM A=2E X 79,000 0 79,000
OofleMed Haota &X 79,000,000 79,000
J| 70,000
< 9,000
sRIci=5718& 23X 280,000 204,050 75,950
308 XtXIEHH SOl A 280,000 204,050 75,950
07 IXNSHH AR S = 280,000 204,050 75,950
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SEENEEEFEEEEEERE!
280,000,000 280,000
29 AR =stdyH HE 180,000 0 180,000
2 90,000
= 90,000
401 AlEHIZ 201 Y| 180,000 0 180,000
= 90,000
= 90,000
01 Al&H| 180,000 0 180,000
OZS YN sHEH AYQHET)
180,000,000 180,000
= 90,000
&< 90,000
ol AMEH S 6,434,660 7,797,775 N 1,363,115
= 5,337,660
= 1,097,000
HUES AL (AZB L) 687,360 493,500 193,860
= 660,360
= 27,000
308 AMXISHMSOIA 687,360 493,500 193, 860
= 660,360
o= 27,000
01 AIXSHMENEXZ 687,360 493,500 193,860
OflgEs 4 2e 660,360,000 660,360
=2 660,360
OJlZEe HeE52H BeAY N
27,000,000 27,000
HAEBSRAZL| (AlZXE) 702,300 73,000 629,300
= 627,300
o=t 75,000
403 XX SHHS K20 ™ 702,300 73,000 629,300
2 627,300
& 75,000
01 XIS A2 X 702,300 73,000 629,300
O H 22| 27,300,000 27,300
= 27,300
ONEAY SeEs7 Y2 NHE X4
675,000,000 675,000
= 600,000
o=} 75,000
SHE MEH = 4,917,500 7,131,275 N2,213,775
= 4,050,000
= 867,500
403 XX SRS K2 0| & 4,917,500 7,046,275 N2,128,775
= 4,050,000
& 867,500
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HE: HYZH Ol S
Sl Y ME= CERED
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SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
01 HXSHMA2E X 4,917,500 7,046,275 AN2,128,775
OS& HEMEHAH =3 AY 4,917,500, 000 4,917,500
= 4,050,000
< 867,500
Hotetd ME S& 127,500 100,000 27,500
207 A RO H| 127,500 0 127,500
01 89 127,500 0 127,500
ORds A2tH MHEBEEXZA UE Y
127,500,000 127,500
HE2HZH (LI =D) 114,187 101,253 12,934
Jledl (ol & =) 114,187 101,253 12,934
Jl2Zyl (ol & =) 114,187 101,253 12,934
201 L-2EH| 52,700 45,900 6,800
01 At 22/l 52,700 45,900 6,800
OB HRF2 52,700,000 52,700
202 oddl 51,119 44,523 6,596
01 = LH &4 1l 51,119 44,523 6,596
Ol HLF& 51,119,000 51,119
203 YR =] 10,368 10,830 AN 462
0 J22F PR =8| 5,940 6,270 A 330
Odfl 4= 5,940,000 5,940
04 FN2IELRZ=TH| 4,428 4,560 A132
Oofl & 2 1t 4,428,000 4,428




